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GROUP 11 / I1A = 25 QUESTIONS

UNIT-X: APTITUDE AND MENTAL ABILITY
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il.

1ii.

1v.

Olev@ X

11.

1ii.

1V.

Simplification - Percentage - Highest Common Factor (HCF) -
Lowest Common Multiple (LCM).

Ratio and Proportion.

Simple interest - Compound interest - Area - Volume - Time and
Work.

Logical Reasoning - Puzzles - Dice - Visual Reasoning - Alpha
numeric Reasoning - Number Series.

— Fpalayld LAISHHMISE [HlewIeNleyLb

F(HBGH60 UGB CuTgHid Smyewi (Tem@) — alwdstlh — WBFHm
Qurgl wLmE (LCM)
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oT6mT 61(IDSHGHIS SHTTemIAIUIED - 616wl eUflend
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[ PQJ‘L]
STUDY CENTRE
CHENNAI

TNPSC ORIGINAL QUESTION
TNPSC GROUP I PRELIMINARY EXAM
03.01.2021

1. Find the value of k if

P+25+ ... + k3 =44100

a. 20 b. 21 c.22 d. 23 e. Answer not known

&1 P SHTEwIS.

P+25+ ... + k3 =44100

a. 20 b. 21 c.22 d. 23 e. alewL Gz fwalsdeney
2. If A=2%and B = 2%+ 263 + 262 + 20 Which of the following is true?

a. Bis larger than A by 1 b. A is larger than B by 1

c. A and B are equal d. B is 2% more than A

e. Answer not known

A =265 1ppid B = 264 + 263 + 262 + 20 gieniss QM (BaHBLILIL (H6lTengl 616060
LTedTeu(HeUeToUMBMII60 61&H 2 6mienlD?

a. Baeia A m el 1 ogsbd b. A gz B & ol 1 eifsid

c. A ioppid B Fioib d.B ooz A 3 el 2% gifsibd
e. allewL  OFflwalsvensv

3. Find the missing number:
3,12,27,48, 75,108,
a. 147 b. 162 c.183 d. 192 e. Answer not known
(UL L 6TeITeN6mIS  BHIT6uTHb:
3,12,27,48, 75,108,
a. 147 b. 162 c. 183 d. 192 e. alenL  GaMuialsvemsv

4. In the given number pattern find the next term.

2_1 g 4321
33’444 ' 5555’
) i b. 1234 C. 4321 d. 54321 e. Answer not known

6666 5555 2222 66666

B OIMILILNE0 DIHSHS 6TewIeN6mIH HTEWISH.

21 321 4321

33'444°'5555'

a. 123 b, 1234 c. 4321 d. 24321 e Qg flwaisvensv
6666 5555 2222 66666
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5. If 'HUMBLE" is given by the code EHLUBM. What does the code

EDUCATION mean?
a. NEDOIUTCA b. NEOIDUTCA c. NEDUOITCA
d. NEODIUTCA e. Answer not known

HUMBLE  eaemens EHLUBM  eaepib  @muilimed  syliigest
EDUCATION eaagniid @muih eispenens @nld@b?

a. NEDOIUTCA b. NEOIDUTCA c. NEDUOITCA
d. NEODIUTCA e. el Oxfuwalsveneo
6. What is the probability of getting and even number when a die is
thrown?
1 2 1 5
a. < b. 3 ¢ 3 d. 5 € Answer not known
) LIS 6ML 6D o (HL(BOLTpE eIl G 6mL LLienL 616001

S LILISDBHT HIoSHH6| WTH?
1 2

a. - b. = C.
6 3

N |-

d. %e. alewl G MNuwalevenso

7. The present ages of Arun and Suresh are 24 years and 36 years
respectively. What was the ratio between the ages of Suresh and
Arun, 8 years ago?

a.4:7 b.6:5 c.7:4 d.3:2 e. Answer not known
SImewt  WwBpIb F8rad HSBOUTMSHW WIBHIH6T (WedBBW 24  GU(HLMISH6NT
BHID 36 QUHLEIG6T 6edlled 8 ewiBBHEHHEG (el FCrad oBm®ID
SI(HEWT WGBTS HBHID 6leTedIUTS B(HHH (HEBESLD?

a.4:7 b.6:5 c.7:4 d.3:2 e. alenL  GaMuialsvemsv

8. A and B together can do a piece of work in 16 days and A alone can
do it in 48 days. How long will B alone take to complete the work?
a. 18 days b. 24 days c. 28 days
d. 30 days e. Answer not known
A oppib B sudw @meurmid Devenbdl @b Geusmevenws 16 B serfled
wiuT. A salCw obHs Cauemevenuwt 48 BT Herfled (LPIQUILTT. eeled, B
S8 oIbHFH Ceauemevenu! 61&HemedT BT H6160 (LPIQLILITT?
a. 18 pm el b. 24 B se C. 28 [mm el
d. 30 ®mm el e. el Oz fuwialsvenev

9. 210 men working 12 hours a day can finish a job in 18 days. How
many men are required to finish the job in 20 days working 14 hours
a day?
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[STUDFY%N'ILRE]
a. 156 men b. 162 men c. 168 men
d. 172 men e. Answer not known
210 oewise  HTOeTaIBISEG 12 wewl  Gnryd  Geouedev CFUIH @
Gouemevemwl 18 pHIT &eflev (pliliT. 985 Geusmwevenul HTOETTEIBISG 14
el Gp Geuemev OGFUIZkH 20 BILH6EMED (PQHS  THHENT  DYLEIIH6N

Gxpemeu?
a. 156 sy emiBamel b. 162 sy eisel c. 168 syemiBameir
d. 172 syemismei e. allewL Oz fwailsdenev

10. If 5 persons complete 5 projects in 5 days then 50 persons complete
50 projects in days.
a. 5 days b. 10 days c. 50 days d. 55 days

e. Answer not known
5 puisel 5 Geuswevenw! 5 HILHefled OFUIFH (PQULIT. 66lled, 50 BUITHENT

50 Gouensvdemer BT &H6Med OFUISH! (PIQLILIT.
a.b BIser b. 10 B _sei c. 50 ®mmsei
d. 55 B sl e. alen.  Gafuwelsvemev

11. A mason uses the expression 2x3 + 16 to represent the area of the
rectangular floor of a room. If the decides that the length of the room
will be represented by 2(x+2) then what will the width of the room be
represented in terms of x?
a.2(x-2) b. (x% - 4) c. (x2-2x+4)

d. (x2 + 2x - 4) e. Answer not known

&9 GeusmeowlmelT (HaUT SiewBUlell GFeIeNs allgal HenJulet LITLILIET6,
2x3 + 16 eenig SHTomaisdis CHTEWILAT. Siget Hemd 2(X+2)  ereud
GBSSLILLLT6D HIHELITRIH X — 6 FTTUTSH LleieuheueiouBmien 61gi7?
a.2(x-2) b. (x2 - 4) c. (x2-2x +4)

d. (x2 + 2x - 4) e. allenL  OFflwiaieoenso

12.  The volume of a solid hemisphere is 29106 cm3. Another hemisphere
whose volume is two-third of the above is carved out. Find the
radius of the new hemisphere.
a.21.5cm b.12 cm c.21 cm

d. 23 cm e. Answer not known

QU SHlewlld DMIECHTENSHleT HeT Sloney 29106 &.0515 cpeiiled BFeni(h
LIl 60T S|6TT6)6IT6IT LomGwiT ST HBHTNLD B 860 (mHHSI
OagISHILGBLOTETe0 LS DenTCoTensHler D 6leiieo?

a.21.5 Q.6 b.12 Q.6 c.21 Q5.8

d. 23 Q&.6 e. el O fuwialsvenev
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13.

14.

15.

16.

17.

| APP€ L1 |

The difference between simple and compound interest on a certain
sum of money for 2 years at 2% per annum is #. Find the sum of

money.
a.¥2,000 b.¥7,500 ¢. 10,000
d. 312,000 e. Answer not known

2% oewih  euliguied 2 SLemihe@ @ DFNBGE HoLd Tl B
Al &G Sl aldsGd Bl Buiueren  aldsPHwnsd B erefled
SlUBBIEIT DIF60 61631607

a.¥2,000 b.¥7,500 ¢.¥10,000 d.¥12,000 e.alemw GaMuiaisdemnso

The difference between the compound interest and simple interest
accrued on an amount of 8,000 in two years is ¥405. Then the rate of
interest per annum is
a.12% b. 15% c. 18% d. 10% e. Answer not known
B eumLBiseied US8,000 Bamer ol G eaully, SHafauly SEuieIB6
alsFwrgid BO5 eeied aumHLaILIlY aiHLD
a.12% b. 15% c.18% d. 10% e. alowl  Gxfwalsbensy

Find the rate of interest if the difference between C.I and S.I on ¥8,000
compounded annually for 2 years is ¥20.

a. 5% b. 10% c.15% d. 20% e. Answer not known
B000 &6 Breavih USGBEHHEGH DOLSGD LB I QHGD, 56l
oIl 19EGID Aol Cui 2 eten albHumsid VO eefed an'ip afsid srems.
a. 5% b. 10% c.15% d.20% e.alen OQFfwaledensv

Find the principal on amount ¥11,800 at 6% per annum for 3 years
being simple interest annually.

a. ¥8,000 b. ¥9,000 c. ¥10,000

d. 39,500 e. Answer not known

pSTeNIBHefled 6% Halai g aisbd Cwrshs Gstens U1,800 oefiaeid
SIFMEVD  BTEWIS.

a. 8,000 b. 9,000 c. ¥10,000
d. 39,500 e. el Oz Muwalsveneo

The value of a machine depreciates at 10% per year. If the present
value is ¥1,62,000. What is the worth of the machine after two years?
a.¥1,29,600 b.¥1,30,600 c.¥1,31,600

d. ¥1,31,220 e. Answer not known
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18.

19.

20.

| APP€ L1 |

o Bubdrsseal HBCUTmSW wHy ¥1,62,000. @aCeurm DeRBHE@L0D
BuibArsHar wH 10% Gopdpgl. aafled, Qe mbos SPHSI
BeualwbFHysHaler HIIL eTereon?

a.¥1,29,600 b. ¥1,30,600 c.¥1,31,600
d.¥1,31,220 e. alenL  GaMuialsvemnsv

A sum of ¥48,000 was lentout at simple interest and at the end of 2
years and 3 months the total amount was ¥55,560. Find the rate of
interest per year.

a. 7% b. 8% c. 9% d. 10% e. Answer not known
BLOMB  UPBIGLILLL  SFe0 I 48,000 &G 2 pawi(hdel 3 1OTHH
BTVHHMBGL LT Heflaul 19 elpeold GuBLILL L GQwordss OFTens 55,560
B BHHSSBI 61060 Il ly HHMBH HT6ISb.

a.7% b. 8% c. 9% d. 10% e. alewL  OFfluiaisuensv

Raghul wanted to find the height of a tree in his garden. He checked
the ratio of his height to his shadow length. It was 4 : 1. He then
measured the shadow of the tree. It was 15 feet. What was the height
of the tree?

a. 15 feet b. 30 feet c. 60 feet

d. 75 feet e. Answer not known

Arrged Haig CHTLSHHeO 2o 6fenm e WISHT 2 wWIHmsd il
allpiemmt. SWICUTH ST  HIGH 2 WTSHOSUID, SHOIH  HILPeSes
HTHMBUID DleNbH DG 4 : 1 B alFHHHe0 2 6ilenensd DMIHSHTT.
ey ogsdlet mHieeder Herd 15 o9 eleled, LOFSHSHleT © WD 6leitenr?

a.15 o b.30 sng c. 60 99
d.75 @y e. allewL  Oxfuwelseney

A shop keeper marked the price of an article as 15% more on its cost
price and than offered 15% reduction for the article, then he got
a. Profit b. Loss c. Neither Profit nor Loss

d. Profit as well as Loss e. Answer not known

QM SMLESTT @ OCuTmelsr oILds alemeoulsd 15 FHeaisld
HFHBTHE  DIFHeT  GHPHH alewev YFGHBTT. SiFed 15 FHaisld
He@BLIY HhHFH alBLmeT CFUILIBIT 6160160 HEDLSBMTIT DML [HHSHI.

a. 6LITLILD

b. plLD

C. GUTL(PLD B6V6m6V [BLL (LPLD  E606M6V

d. evmuTHeID BHBGD B LITSAD E(HBGLD

e. allew  Oxfuwealedensv
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STUDY CENTRE

CHENNAI

21. A hemispherical tank of radius 1.75 m is full of water. It is connected
with a pipe which empties the tank at the rate of 7 liters per second.
How much time will it take to empty the tank completely?

a. 27 minutes b. 26 minutes c. 72 minutes

d. 62 minutes e. Answer not known
o 1.75 15 2 eiten T SemyBsmen eugeud OCHTLY (PHBBIID BIT6D

Briuiul Getengl.  @F  &wrulledr  cpeold  alpmgsEd 7 LT eisld
s uiedmbas BT CeuelCuBBLILGLTETED, OCHTLIgenUl  6I6IaIATE)
CBIHEHe0 (PeUBHIOTES HT60 GlFuiweomd?

a. 27 mpol_misel b. 26 MO Fiser C. 72 mHIALBigeT

d. 62 BlioL_miseit e. el Oxfuwalsveneo

22.  Find the LCM of (x*-1), (x2-2x +1)

a.(x2+1))x+1)
c. (x2+1) (x-1)2

b. (x +1) (x - 1)

d. (x2+1) (x +1) (x - 1)2

e. Answer not known
15.QUIT.LD SHTEnTs.

a.(x2+1))x+1)
d. (x2+1) (x+1) (x-1)?

b.(x+1)(x-1)
e. allewL  OFflwalsbensy

c. (x2+1) (x -1)?

23.  Find H.CF. of (x%y + xy?), (x2 + xy)
a.x+y  b.xy c.x(x+y) d.x2+y?2 e. Answer not known
(x%y + xy?), (x? + xy) spdlweuBpier 15.0LT.6u. STews.
a.x+y  b.xy c.x(x+ty) d.x2+y?2 e sl Qzxfwailsdens

e 13 .8
24.  Simplify: 52+ of5

a. 61 b. 61 C. 6§ d. 6i e. Answer not known
4 6 9 8
. 1 3 . 8
F(HBGHH: 5—+— @61 —
B26 2 4 3 9
1 1 8 4 .
a. 6= b. 6= C. 6= d. 6= e. alenL  Gafuialsvensv
4 6 9 8
25. Simplify:f+§—§+@—gx_—27
3 2 3 12 9 16
a. 23 b. 43 C. 33 d. 13 e. Answer not known
12 12 12 12
5’,@5'3@55 ﬂ+§_§;@_gx__27
3 2 312 9 16
a. >3 b, 43 ¢ 3 d. B e. alewL OxMuiaieoenev
12 12 12 12
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STUDY ENTRE
CHENNAI

AGRICULTURE & HORTICULTURE
GS (18.04.2021)

The value of a motor cycle 2years ago was I70,000. It depreciates at the
rate of 4%p.a. Find its present value.

a. 65312 b. 64312  c¢. 64512 d. 65412 e. Answer not known
B FHIJ UTHID AP alensw 2 LewihHEhdHE (et  70,000-815
BEheSH. HE  HI] G Cammd 4% elpd GOBEBEH. DB
SBOUTHHW OFHIDLIS ST,

a. 65312 b. 64312 c. 64512 d. 65412 e. alewL O fwalevensv

A sum of I46,000 was lent out at Simple Interest and the end of lyear
and 9 months, the total amount was I52,440. Find the rate of interest per
year.

a. 5% b. 6% c. 7% d. 8% e. Answer not known
1F60 T 46,000 yeig 1 Wi 9 TH STVHIHBGL LIBEG SHeflell 19 eLpeVLD
CWwTHHH OFBTansdwinsd I  52,440-9485 2 WTHSHSI eafled el lg eiHD SIS,
a. 5% b. 6% c.7% d. 8% e. alenL  GaMuiealsvemnsv

The cost of a machine is I18,000 and it depreciates at 16% % annually. Its

value after 2 years will be
a.<12,000 b.%12,500 ¢.%15,000 d.%16,500 e. Answer not known

T BubdrsdHear alewev I 18,000 SiFHI UETHEHS 16%% aiglb GxhuliloTed

SIDLSHBSI.
a. 12,000 b.X12,500 ¢.X15,000 d.R16,500 e. alewr Gxfuiaisdemsd

The curved surface area of a right circular cone of height 15cm and base
diameter 16cm is
a. 607 cm? b. 68 7 cm? c. 120z cm?

d. 136 7 cm? e. Answer not known
15 Qg8 2 wyapd 16 g6 allL(pb OsTemwiL @@ GBTeul L  gnlbLler
QUeGITLITLIL]
a. 60 7 Q.12 b. 68 7 QF.162 c. 120 7 Qz.1652
d. 136 7 Qg2 e. el OFflwalsdensv
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CHENNAI

A machine bought at Rs.50, 000 falls in its value by 8% of its value every
year. Find the value of the machine after 2years.

a. 340,000 b. 43,220 c. J42,000

d.< 42,320 e. Answer not known

qh 50,000 wHIeTen  @Ih QUIBHTOTEIH DIGHET  alensouied  eelbleu (T
aBL(IPD 8% GBEHBH eafled 2 QUIBLBIBEHHGIIE DHET aIen6v  6I63T6H?
a. 340,000 b. 43,220 c. <42,000

d.< 42,320 e. el Oz fuwalsveneo

A competitive exam paper has 100 questions for which 1 mark will be

awarded for each correct answer and % mark will be deducted for every

wrong answetr, %mark will be deducted for non- answering. Find the

total mark scored by a candidate who answered 88 questions of which
61 are correct.

a. 61 b. 44.5 c.44.25 d. 54 e. Answer not known

100 elemdhsel Osmewi @ Cumiysd Gsialed sflwmer alenL uwiefd@ib
@alGeum alammalB@L 1 LG aPBISLILGHEDBS. HouBTeT alenl 5@

% wHUCUewT &GS ILGHBH. Gweuld el welldsts CxeTaldhg, %
DS IGILIGHIT S0 BBLILIGHBS). @ GxpiTeui 88 AT BB 6THDBE)

allenL W6l &M, SIUBMI6NT 61 A THHEHHE) giflwimeor
alenL wellSH(HSSH BT srefled SleuT GUEID LHIGUGNTT sl6ilel6ney?
a. 61 b. 44.5 c.44.25 d. 54 e. alenL Oz flwealsvensv

A student can type 21page in 15 minutes. At the same rate, how long
will it take the student to type 84 pages?
a. 60 minutes b. 50 minutes c. 70 minutes

d. 45 minutes e. Answer not known

Qb LTewielelmed 15 MBI miselled 21 uUbsIRISmeTdH FHULFH GFUIL (LpQULD.
86 Gauzssddlev, DbHH WIS 84 USSEBET SHLLEFSH Gauiw
eleleueey GBI SGLD?

a. 60 PO miseit b. 50 Bl riseir c. 70 Pl misert

d. 45 BlioLmiseit e. alenL Oxflwealsvemev

The breadth of a rectangular field is 60% of its length. If the perimeter of
the field is 800m, what is the area of the field?
a. 18750 sq. m. b. 37500 sq. m. c. 40000 sq. m.
d. 48000 sq. m. e. Answer not known
R OFelais euwelssT DiBevD, BenhbHer 60% G, DlelauedesT HBBeNe]
800 1S eTeolled Sl6iIaUUIEI6T LITLILIGTEN6ISDS GT6w0.
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a. 18750 sq. m. b. 37500 sq. m. c. 40000 sq. m.
d. 48000 sq. m. e. allewL  OFflwiaisoenso

9. Find the G.C. D. of the following: 35x°y’z*,49x°yx’ 14xy°z°

a. 7x°y*z? b. 7xyz c. 14x°y*z*  d. 7xy 22 e. Answer not known

1B.0um.en. (G.C.D) sremies. 35x°y°z*,49x%yx®,14xy’z?

5,,354

a. 7x’y’z’ b. 7xyz c. 14x°y’z" d. 7xy7Z*  e.alewL Gxfwaievenso

10. 10% of 5 and 5% of 10 add upto

a.0.10 b. 0.25 c.1.0 d.25 e. Answer not known
aS5-a1 10% wmpp 10-e1 5% pFuwieuBilest gnBH60
a.0.10 b. 0.25 c. 1.0 d. 2.5 e. allewL  Gxfwalsbency

11. A can do a piece of work in 20 days and B can do it in 30 days. How
long will they take to do the work together?

a.15 b.12 c. 20 d. 25 e. Answer not known

A asiuau @ Gousmwevenuws 20 B sefled B ereueut 9i8% Gsusmevenws 30
BT S6eMeod  OFuigh  pluTTsHer. eualmeumd Caibal  oieGmevenuIF
CFwIg (WY& 615HHM BT H6T DLEGLD?

a.15 b. 12 c.20 d. 25 e. alenL  Gafuwelsvemsv

12. A can do a piece of work in 8 days and B can do the same piece of work
in 12 days. A and B together complete the same piece of work and get
3200 as the combined wages. B’s share of the wages will be
a.x75 b.X 80 c.X 85 d.X 90 e. Answer not known
@@ Gouemevenws A, 8 pmsefled Gauig plmT. 9|85 GCealmevenul (IPIQHo
B-&@ 12 mrlser ouab. obs Caiemevenul A oBmid B @meumid Baitbal
sz I 200 eoow QErBIdmahs 2aHuoTe  QUBBTEL SiFHe0  B-daEmer
e glUILD

a.%75 b.X 80 c.X 85 d.Z 90 e. alenL  GaMuialsdemsv

13.  The highest number which divides the product of any three consecutive
even natural number is

a.2 b. 4 c.8 d. 16 e. Answer not known
SIB55BHS cpEm @Il BuIed  elemisenadl  OLBHBHMED  UGHEG
WOsLOILIMW  6T6u6T

a.2 b. 4 c.8 d. 16 e. alenL  Gafuiealsvensy
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14.  When two dice are rolled the number of outcomes of getting the sum of
the faces equal to 8 is?

a. 4 b.5 c.6 d.7 e. Answer not known
A usmLE6T o (HLLLUUBGLOUTSH SleuBpler (ps  WHLILSBeTET GbBHe0 8-
S QHLUUSBSHTET GUTUILILISH6T6T 616061630160 H

a. 4 b.5 c.6 d.7 e. aleL O flwalsoamen

15. The probability a red marble selected at a random from a Jar containing

p red, q blue and “r” green marble is
a. — b. P c. P4 d. 2T
L ptgr p+q+r L pHqer L pHqer

e. Answer not known

p - Feully, - Beuld, I- LFMF [HIBH FPTRSBHET 2 6160 QH GHeMeUUled
b @@ FaUlIUBB SnlpThIS6E0 SN LILSBHTET [HHLDHBAITHID]

d b. —P c. P4 d P

p+q+r p+q+r p+q+r p+q+r

e. alemL G flualedensv

a.

16. The largest four digit number which when divided by 4, 7 and 13 leaves
a remainder 3 in each case is
a. 9138 b. 9318 c. 9381 d. 9831 e. Answer not known
4, 7 opmib 13 oudul @eGeumh  eTewreumed aU@GUBD OuTIpsl 158 3-89
SHIHanlgul WSLOLMW BTG &evsHsd 616w
a. 9138 b. 9318 c. 9381 d. 9831 e. alenL  GaMualsvemsv

17.  Find the LCM of pair of the following polynomials x* -27 a3 x, (x - 3a)?,

whose GCD is (x - 3a)

a. x(x-3a)? (x2-3ax+9a?) b. x(x+ 3a)? (x2 +3ax+9a?)

c. x(x-3a)? (x% +3ax-9a?) d. x(x -3a)? (x%+3ax+9a?)

e. Answer not known

x4+ 27 ad x, (x - 3a)? Qeuppler 15.0um.6u. (X — 3a) ererfled L5.GLIT.LD.

a. x(x-3a)? (x2-3ax+9a?) b. x(x+ 3a)? (x2 +3ax+9a?)

c. x(x-3a)? (x% +3ax-9a?) d. x(x -3a)? (x2+3ax+9a?)

e. allewL  OFflwalsvensv

18. If z=52 and ACT = 48, then BAT will be equal to

a.39 b. 41 c.44 d. 46 e. Answer not known
z =52 woppidb ACT =48 aafled BAT =7
a. 39 b. 41 c. 44 d. 46 e. alewL G fuwalsvensv
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19.

20.

21.

22.

23.

MS5E$SRB3AK7#9$UDIN4 % FH2@8W.How many such consonants are
there in the above sequence each of which is immediately followed by a
number and immediately preceded by a vowel.

a. One b. Four c. Three d. Two e. Answer not known

M5E$RB3AK7#95UDIN4 % FH2@8W
GuwBev o siten OFHTLM6L 2o 6ifen o M H6ele0, DbHH 2 WIIEG (LPEIT6IT6D

@m o WOrwsHzId SiHs 2 pilimusdh CHTLAHEH @ 6TemNailD 6UF&HanIgul
QUICWIS SIS 616  616016w01 HENBENI  SHT6U01H.

a. eIyl b. preig C. ceiiyl d. ®yewi e. alenL
Oxflwealedensv

If Karkuzhali earns X 1,800 in 15 days, then she earns 3,000 in

a. 25 b. 20 c. 15 d. 10 e. Answer not known
15 mr sefled smi@wed I 1,800- aumomanomsll GUmIEBTT. sefed I 3,000-
& BT &H61M60 6U(HLOTEILOTSL GUmIGUTT.

a. 25 b. 20 c.15 d. 10 e. alemL  Gafuealsvemsv

10 lakh candidates write the TNPSC Exam this year. If each exam centre
is allotted with 1000 candidates. How many exam centres would be
needed?

a. 100 b. 1000 c.10000 d.100000 e. Answer not known
10 @eugb GBsirautser Geleuteni® INPSC  Gxitey 6110 6o360rT.
@610 Bz  emwwHHed 1000 Csiteutmet  BsiTey TR eNTEL
dHHmedh BHTey enuimiseT GhHemeu?

a. 100 b. 1000 c. 10000 d. 100000 e. alenL GxMuiaisdensv
2,4,12,48, 240, .........
a. 960 b. 1440 c. 1080 d. 1920 e. Answer not known
2,4,12,48, 240, .........
a. 960 b. 1440 c. 1080 d. 1920 e. allewL  Gxfwalsensv

In a theatre, there are 20 seats in the front row and 30 rows were
allotted. Each successive row contains two additional seats then its front
row. How many seats are there in the last row?

a.58 seats  b.78 seats c. 98 seats d. 108 seats e. Answer not known
R deolior  opmdlar (pHeo eaflemguled 20 HEmEBIEHD OGOTHH 30
aflengsEpd o senal. bHHbHHS @albeurh eaflenguigild DSBS
Whmaw aflngenul ol QreuiB SHIHmBH6T FmBHeUTH 2 6iTener. Henl &
alflenguiled e1dhHmenn BD(HEHMBHET EHBHEGLD?

a. 58 auflengsel b. 78 auflengsel c. 98 aflengsei
d. 108 aflengsei e. alemL Oxfwealsdemev
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24. Find the difference between Simple Interest and Compound Interest for
a sum of 38,000 lent at 10% per annum in 2years.
a.< 60 b.X 70 c.¥ 80 d.< 90 e. Answer not known
8,000 - 10% au'y aizb ealed SIenih SpeNiBHeled Senlb@&GHD gnl B
AL HGID Hel QU IRHGID 2 6T alHHUTFHMBHDH HTeNwISH.

a.< 60 b.X 70 c.X 80 d.< 90 e. el Gxfuwalsveneo
a_3b_4
25. Ifb 5¢ 7 thena:b:cis
a.12: 20: 21 b. 12: 20: 35 c.15:28: 35 d. 28: 20: 12
e. Answer not known
E=§,9=ﬂ elalied a: b: ¢  ereiug)
b 5c¢ 7
a.12: 20: 21 b. 12: 20: 35 c.15:28: 35 d. 28:20: 12
e. alemL OFflwalsvenso

ASSISTANT AGRICULTURAL OFFICER
(17.04.2021)

1. On a palm tree of height 32 cubit, a chameleon tried to reach the top
of the tree. If it climbed one hand span on it but slipped four fingers
on one day. How many days will it take to reach the top of the tree?
a. 96 days b. 69 days c. 94 days d. 64 days

e. Answer not known

32 (b 2 LWl UmIISHHe0, LUFCFTHS @&iml 1y o Fdlemul SienL ul
PWEOEIBS. b HIDTHESG @b STl gl Hrey alged &6 BPLIGSBa
aeled 1y o Ffeww  oewLw  LFCHTHY  HBHMET  [BTETHM6N
I(HSHHIHOBTeiTEHD?

a. 96 [HICTHE b. 69 BreiTsmer C. 94 [BT6lH6l d. 64 mreTHel

d. afewL GQxflwelsvenev

2. P, Q R, S and T are sitting in a circle facing the centre. If R is
immediate left of T and P is between S and T, who is to the
immediate left of R?

a.P b.Q c.S d. T d. Answer not known

R Al LHHe, oL eowdbmd Cpresdl P, Q, R, S wnmid T &G

SIoThHGleTeneT. T eleuambE LMD HBHSHISLILQUITE R ereareaimLD,
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| APP€ L1 |

S o T o Buaumsend 0 oLGu P eremieumid
SIOTHAHBLILMTTEHT  elafled, R elailaumhdbE SLUBD  DIBSHSLILIQUITS
SIDTHGHIGTET [BUIT WITT?

a.P b.Q c.S d. T e. alowL Oxfweaisdemev

3. The value of a motor cycle 2 years ago was < 60,000. It depreciates at
the rate of 5% per annum. Find its present value.
a.< 54,000 b. X 54,050 c.X 54,500 d.X 54,150
e. Answer not known
B FoEEJ ATHRND PSS alened 2 WIBBEHHES (et X 60,000 b
BBHSF. SBE  WHI UMECHTHID 5% GIFD GOBHBSH. S
SBCUTMSHW GHIIENLIS SHT6TH.
a.< 54,000 b. X 54,050 c. X 54,500 d.X 54,150
e. alewL G fwailsdenev

4. A and B invest in a business in the ratio 3 : 2. If 5% of the total profit
goes to charity and A’s share is I 855, then the total profit is
a.31,425 b.% 1,576 c.X 1,500 d.<1,537.50
e. Answer not known
A oppb B @maut @@ Osmfed GsTLmE 3 2 6B eldgHsHa 60
(WHeSH OFUIgleTenenT. OOTHS BeoTUHHe0 5% OHTIH HBIAISISHBGS
APBIBLILGHEBH. wBmId A & ukE I 855 ey QITHEH BevrLid
61601601 7
a.31,425 b.X 1,576 c.X 1,500 d.<1,537.50
e. alewL Ggfwailsenev

5.  The HCF of two numbers is 2 and their LCM is 154. If the difference
between the number is 8 then the sum is

a. 26 b. 36 c.46 d. 56 e. Answer not known
B etewideilenr  15.0LLeu. 2  oB@ID  Seupplesr 5.0, 154 jeuaim
T HEHHHemL G o eitern Coupt@y 8 eTedlled SlouBMlesT FnHFHev

a. 26 b. 36 c. 46 d. 56 e. allewL  Gxfuwalsbenev

6. Which of the following cannot be the HCF of two numbers whose

LCM is 120?

a. 60 b. 40 c. 80 d. 30 e. Answer not known
120-y 15.8.0. — Bsd OCaTemiL  &H 6B EhHGL  Lleeu(bHDd  61hdH
cTeTenITend DieuBNledt 15.0L.6U.-LH EBHEBS SUIeLTH.

a. 60 b. 40 c. 80 d. 30 e. alenL  Gafuialsdensy
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10.

11.

12.

| APP€ L1 |

By selling a bicycle for X 4,275, a shopkeeper loses 5% for how much
should he sell it to have a profit of 5%?

a.<4, 625 b.% 4,725 c.X 4,825 d.< 4,925

e. Answer not known

Falemiy @aTeNB @ HMLSHTIT I 4,275 &G IBUSTD DIRIHSG
5% ®mLLD gBuGdma eaeflsd 5% eomubd OuB  CeuewiBGLeTsd  SieuT
geuewtgenul eeiienl allenevdh@ alBd Geuewi(BLd?

a.34,625 b.X 4,725 c.%4,825 d.< 4,925

e. allewL  OFflwealedensv

A number when decreased by 20% gives 80. Find the number.

a. 40 b. 60 c. 100 d. 120 e. Answer not known
@, elewienent 20% GHMBHHTev 80 HeMLHHBH eIy Db elewTEn6mID
BITGT .

a. 40 b. 60 c. 100 d. 120 e. alew  GaMuelsvemsv
If the median of a, 2a, 4a, 6a, 9a is 8. Then find the value of ‘a’

a.8 b.6 c.2 d. 10 e. Answer not known
a, 2a, 4a, 6a, 9a a1 DML Blemev 8 el@IBTEL ‘@’ BT EemL 1HeNEVUIETE)]
a.8 b. 6 c.2 d. 10 e. el Gxfwalsbenev

The median of the data 24, 29, 34, 38, 35 and 30 is

a. 29 b. 30 c.34 d. 32 e. Answer not known
SIasen 24, 29, 34, 38, 35 wBmid 30 B Bl [Hlenevlere)
a. 29 b. 30 c. 34 d. 32 e. allewL  Gxfuwalsensv

For which set of numbers do the mean, median and mode all have
the same value?

a.2,2,2,4 b.1,3,3,3,5 c.1,1,2,56 d.1,1,2,1,5

e. Answer not known

Ueteupd ettt Q@ FHseied gymam, SeLBensv wWBWID (Wabh @G
LFHIUTS SHDWUD COFHTGHSH 61517

a.2,2,2,4 b.1,3,3,3,5 c.1,1,2,5,6 d.1,1,2,1,5

e. allewL  OFflwealedenev

Let m be the mid point and b be the upper limit of a class in a
continuous frequency distribution. The lower limit of the class is

a. 2m-b b. 2m+b c.m-b d. m-2b

e. Answer not known
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13.

14.

15.

16.

17.

| APP€ L1 |

enwowlliertedl 7, QFHTLT Hiapbeuswt LFaueder e Liflallear Ged 61606m6V
D erafled DB B 6TeLEMEL
a.2m-b  b.2m+b c.m-b d. m-2b e alewL Gafwelsdenso

A rod has a mass of 100 g and length 1 m. Its radius of gyration
perpendicular to its length and passing through its centre of gravity
1S

a.0.2886 m b. 2.886 m c. 0.02886 m d. 0.2688 m

e. Answer not known

100 & meopwb 1 15 mHen(pd 2 LW Hewih @eipdledl HeNHIH MBS
CFRIGHSHHTHOD MTLILNET MWD auPLITEHaD OFe0ID DIFmF OUT(HHS
SoBS SUTID

a. 0.2886 15 b. 2.886 1 c. 0.02886 15 d. 0.2688 1

e. alewL G fwailsdenev

The valueof (13+23+33+ ... +15%) -(1+2+3+....+15)is

a. (3+25+33+ ... +15%) - (1+2+3+....+15) ullenr wHIL| eresrenr?
14400b. 14200  ¢.14280 d. 14520 e.alewL Gafluiaisdemnso
14400 b. 14200 c. 14280 d. 14520

e. Answer not known

If1+2+3+....+n = 666 then find n.

a. 37 b. 36 c. 38 d. 35

e. Answer not known

1+2+3+....+n = 666 aailed, N BT WHII| BHTEWIH

a. 37 b. 36 c. 38 d. 35 e. allewL  Gxfwalsensv

A metallic sphere of radius 16 cm is melted and recast into small
spheres each of radius 2 cm. How many small spheres can be
obtained?

a. 412 b. 512 c.521 d. 421

e. Answer not known

16 Gg.5 sg@peiten @ o Geonsliubg, 2 HISIULGH 2 0F.15 SJLpeTen
Fml LbSHISNTHSLILLLT60 61HSHMT LbHHIH6T SHlenL &EGL?

a. 412 b. 512 c. 521 d. 421 e. el Gxfuwalsvensv

A sphere, a cylinder and a cone are of the same radius, where as cone
and cylinder are of same height. Find the ratio of their curved surface
areas.

a. 242:42:1 b. 2:1:42 c.2:42:1 d. 242:1:2
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18.

19.

20.

21.

e. Answer not known

@ Gamend, 2 (Hewem LBBID dnlbl SUIMBBIET DLITHISET FIOWD. FnldL]
BB o (Hewenulell o WIRISeT UIHIHBE SO 666y,  Dieumnslest
alemeTUTLILS6M6T al&SIHID HT6ewIsb.

a. 242:42:1 b. 2:1:2 c. 2:42:1
d. 242:1:42 e. aflenL Gfwelsoeney

:% then (x + 5):(y + 8) is equal to

X
5
3:5 b.13:8 c.8:5 d.5:8
Answer not known

=% siedfled (x +5):(y + 8) @ FlowTaNg.
3:5 b.13:8 ¢.8:5 d.5:8 e. el Gxfwalsbency

A mat of length 180 m is made by 15 women in 12 days. How long
will it take for 32 women to make a mat of length 512m?
a.13 b. 14 c.15 d.16

e. Answer not known

180 5 menpeitenm e UTulemenr 15 OuewideT 12 BT H6rM60 OFUISHEIT.
512 6 penpeiten e Umulenenr 32 OLewidel OQFUILl 615HFHEME  [BHTL SH6IT
SLGLD?

a.13 b. 14 c. 15 d. 16 e. el Gxfwalsbency

The product of 2 two digit numbers is 300 and their HCF is 5 what
are the numbers?
a.15, 20 b. 10, 20 c. 15,25 d. 10, 15

e. Answer not known

@rewiy milevdhas eranisemer GLIHESBUeVET 300 LBBID Sleumpsle L5.6ClLL.6.
5 elaney, BI6U6I6UGTIH6T WITene?

a.15,20 b.10,20 c.15,25 d.10,15 e. allenL
Caflwealsdensv

The number of number-pairs lying between 40 and 100 with their
H.CF.is151is

a.3 b. 4 c.5 d.6

e. Answer not known

40 (wpFHev 100 euEHTUIGITEN 6T6wIH6NT60 61SHHemen 6l Gemgserilen L5.OL.6u
15 915 BHHGLD.

a.3 b. 4 c.5 d. 6 e. alenL  Gafuialsdensy
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72 The value of 8.94x8.94%x8.94 —3.56x3.56 x3.56 is
8.94x8.94 +8.94x3.56+ 3.56 x 3.56
a. 0.538 b. 5.38 c. 0.0538 d. 53.8

e. Answer not known
8.94%x8.94x8.94-3.56x3.56x3.56 .

6T oG eT6dTe0r?
8.94x8.94 +8.94x3.56 + 3.56 x 3.56
a. 0.538 b. 5.38 c. 0.0538 d. 53.8

e. alowL  OFMwalsdensy

23. The value of E —[ﬁﬂ + {_—5 +@} is

2 3 12
a. 1E b. 13 C. 4 d. —4
6 6 3 3
e. Answer not known
é—(_—?’j + =30 6T LDl
32 3 12 H
a. 12> b, 13 o d. =
6 6 3 3

e. allewL  OFflwalsvensv

24. The number of times an observation occurs in the given data is called
a. Tally marks b. Data c. Frequency d. Numbers

e. Answer not known

CaTHSELILL LS HToYDH6Ie0 @ HLIL 61HHEM (LB U(HBMSEH 6l
FBIeUGH DIDLOFHILIL 60T

a. CrTaHBam_(Bd Gpiser b. syey

C. HBPOGUGHT d. eewimer e. alewl GHfuialsensw

25.  Two numbers are in the ratio 5 : 7. If the sum of these numbers is 108,
then the larger of these two numbers is
a. 63 b. 49 c. 35 d. 42

e. Answer not known

GO eiemidala el 5 : 7 Seubeuanidaia gnbHev 108  erenile0
Sleuail(m elewisberled GLIflul  eremr

a. 63 b. 49 c.35 d. 42 e. alenL  GaMuialsdemsv

26. The line graph shows the annual percent profit earned by a company
during the period 1995-2000. Study the line graph and answer the
following:

If the expenditure in 2000 is 25% more than the expenditure in 1997,
then the income in 1997 is what per cent less than the income in 2000?
18 P a ge APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




% Profit = Income - Expenditure y

Profit percentage

a.22.5%

60

504

404

30

204

704

1995

b. 25%

- 100
Expenditure
e /IT‘C\i\\A
/(65)

A :
S / (60)
(&5)\\\\\\’//

45)
1996 1997 1998 1999 2000
Years
c.275%  d.31.25%

e. Answer not known

Carhédsiul L Cam (B eaugey euMIULLD @b HBeuardHear 1995 — 2000
D oW BeuTl FHaIHHMSH GBILUSTGID. BHHBeUMmeLdH GdTeni(h 2000
D oLenget OFevaleid 1997 oLb SLewigel OCFevaiaihensd el 25¢1p
SIFFBD eleNev 2000 ewienl & STLIGEID 1997 SID  HLEWTIQ6T  6U(HLOT 60T

FHAIBLD 6161I6U6TR] (GHMMBEY?

QUIBLDTRID - OFeVaI60ID

% ®eomuib = %100
OFevaierd
2 1o — /17‘03\,
g 60 /(65) %
5 A / (60)
S s04 /(55 /
5 50 - (55) N o
E 404 L 45)
2 (40)
& 30 '
20
104
. 1995 1996 1997 1998 1999 2000
Years
a.22.5% b. 25% c.275% d.31.25% e. el Gapfwaisdensv
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